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BACHELOR OF COMMERCE (B. COM.)
Term-End Examination
December, 2022

BCOC-137 : CORPORATE ACCOUNTING

Time : 3 Hours Maximum Marks : 100

Note : Answer any five questions. All questions

carry equal marks.

1. (a) What are the documents required to be
filed before Registrar of companies for
incorporation of a company. Explain each

of them 1n brief. 10

(b) What are the various stages in issue of
shares ? Provide journal entries for them

also. 6+4

P.T.O.
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The Balance Sheet of Bharat Steels Ltd. is as

follows on March 31, 2020 : 20
Liabilities :
Equity Share Capital 15,00,000
Redeemable Pref. Share Capital 6,00,000
Profit and Loss Account 4,00,000
Sundry Creditors 2,50,000
27,50,000
Assets h
Sundry Assets 19,00,000
Bank 8,50,000
27,50,000

The preference shares have to be redeemed on

the above date. 30000 equity shares of * 10 each

are issued at = 11. 10% debentures totalling to

4,00,000 have also been

issued by the

company. The shares and debentures are fully

subscribed and paid for. The preference share

are duly redeemed.
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Give the journal entries and prepare the

Balance Sheet after redemption.

Write short notes on the following : 5x4=20

(a)
(b)
(©)
(d)
(a)

(b)

Provision for Tax
Final Dividend
Interim Dividend

General Reserve

Explain cash and cash equivalent in brief.
5
Jindal Ltd. has provided the following

information in their balance sheets.

Prepare a cash flow statement by using

indirect method : 15
2019 2020
Liabilities
) O

Equity Share Capital 4,00,000 5,00,000
12% Debentures 2,00,000 1,50,000
General Reserve 1,00,000 1,80,000
Creditors 40,000 60,000
Bills Payable 80,000 75,000
Outstanding 55,000 65,000

P.T.O.
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Expenses
8,75,000 | 10,30,000

Assets 2019 2020
) )

Goodwill 70,000 50,000
Land and Building 5,00,000 8,00,000
Machinery 1,20,000 1,30,000
Debtors 10,000 20,000
Stock 1,40,000 20,000
Cash 35,000 10,000
8,75,000 | 10,30,000

(a) Explain the term ‘consolidation of financial

statements’.

8

(b) Explain the terms cost of control and

minority interest as per AS-21.

12

You have been provided with the following data :
"1 at 12% interest in 8 years will be ~ 4.9618
(1) Capital employed ™ 6,00,000

(1) Net profit for last 3 years were = 1,07,600;
" 90,700 and " 1,12,500

(111) Expected rate of return 12%
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(iv) Proprietor’s salary per year = 12,000

V)

Assets ~ 7,564,762 and Current Liabilities
131,329

Calculate goodwill on the basis of :

(a)
(b)
(c)
(a)

(b)

Superprofit method 12
Capitalization method 4
Annuity method

Explain the methods of calculation of

purchase consideration according to AS-14.

10
What i1s the  difference  between
amalgamation in the nature of merger and

amalgamation in the nature of purchase as
per AS-14 ? 10

What 1s the significance of reconstruction

account ? What are the things to be kept in

mind to construct the balance sheet after the

scheme of internal reconstruction is completed ?

(a)

(b)

8+12
What are Non-Performing Assets (NPAs) ?
Explain the reasons for growing NPAs. 10

Explain the methods of wvaluation of
goodwill. 10

P.T.O.
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W WU ? Y& K1 G H 9ol

Edls

10

(@) el & frfaa =t fafss staced =0 § ?
ST grafed SHo gfaftear Sifse) 6+4

2. 31 HE, 2020 I 9Rd Wieg fa. o feufq

foeror 1 R @ : 20
CURIC :

TEar T geit 15,00,000
e qaifusr e gl 6,00,000
IR R R IKCIG] 4,00,000
fafay oH_R 2,50,000

27,50,000

e

P.T.O.
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fafay gwafaar 19,00,000
CED 8,50,000
27,50,000

STgF fafy R qeifdr e w1 wem g 2
© 10 % 30000 FEAT YW 11 W qA 10%
TS  4,00,000 & FHEAT g FEifAG few T
9 T HmOTHE w1 gl AfagE fwmr T SR
qraE fRan e qaifuer st ok qui e
feram =

s wfafedi GfST SR wied % gven @

o L\ ae
Tegfq faearor dar =ifs)

frefefed w dfaw femforr fafae @ 5x4=20
(3 H & fau gaum

() AT AT




(9) A<qRA 9

(%) 9= 9=
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4. (1) THS TH Thg qod &I A | Fasul 5

(Hfa=a fa 3 o fofa foero H

o

&

freafafed gl SUeisd HIarE | STHel

fafy @1 TE *d g Tk Ya® e

LTI 15
2019 2020
DT - .
Q) 0
guar A9 S 4,00,000 | 5,00,000
12% SBEUT9S 2,00,000 1,50,000
gE= 999 1,00,000 1,80,000
TR 40,000 60,000
3 fau= 80,000 75,000
I T 55,000 65,000
8,75,000 | 10,30,000
it 2019 2020
Q) 0
w=fa 70,000 50,000

P.T.O.
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9 IR e 5,00,000 8,00,000
9 1,20,000 |  1,30,000
TR 10,000 20,000
w=is 1,40,000 20,000
Aehg 35,000 10,000

8,75,000 | 10,30,000

(31) foxita foawor =1 T & ¥ROT & OR

T Jarsy| 8
() AS-21 & FER fE=m & o wd
eqHd fed =1 v it 12

o o

aen! FrAferiad siehs Sue= U T B

12% =51 X ° 1, 8 a9 H 4.9618 B ST

G) faffsma 9t 6,00,000
Gy e 3 asf & Y§ @9 O 1,07,600;
* 90,700 3R 1,12,500

(iii) SATHMT JoA™ <X 12%

(iv) W@ &1 9aq 12,000 9fq a9
v) "Efei © 7,54,762 SR W] Sifae
* 31,329
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frfafea & smar | =nfa &1 7o wifse

(31) sfereny fafy 12
(&) defrereor fafy 4
(9) =it gfa fafy 4

. (31) AS-14 & YR W %I Yfawed I IO

1 fafe=l @1 auiA sifs 10
(d) AS-14 & ¥R W fago =1 y&fd =
THIHT TG T i Th{d & ThHIHO o
ERIICE 10

. G W # N Hed © 7 ST
qAfA @hig % gl gF % averq fefa faero

ga Gag fh ardl &1 &9 W §E 2 8+12

g

. (31) -dfen wmfgal  (NPAs) #1077
R-dfen wufaal & gfg & #1 wRw
g2 10

(9) Efa qeaied fafemi =61 aoiF i 10

P.T.O.
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